
Todas las Operaciones (B)
Calcule cada suma, diferencia, producto, o cociente.

216 ÷ 12 = 168 ÷ 14 = 6 × 16 = 30 ÷ 10 =

18 + 4 = 13 - 8 = 20 + 15 = 14 × 10 =

216 ÷ 18 = 7 + 20 = 33 - 20 = 7 × 15 =

4 × 17 = 9 × 14 = 90 ÷ 18 = 198 ÷ 18 =

4 × 17 = 22 ÷ 11 = 3 × 1 = 11 - 7 =

13 × 17 = 198 ÷ 11 = 16 - 3 = 15 × 16 =

30 - 12 = 20 × 13 = 7 + 4 = 17 + 20 =

8 × 12 = 6 + 10 = 20 + 16 = 18 - 9 =

228 ÷ 19 = 20 + 17 = 187 ÷ 17 = 19 + 15 =

45 ÷ 5 = 2 + 15 = 24 ÷ 2 = 10 - 7 =

1 × 15 = 2 + 14 = 8 + 3 = 75 ÷ 5 =

26 - 17 = 19 + 11 = 5 + 18 = 14 × 10 =

10 + 15 = 13 + 13 = 323 ÷ 19 = 12 + 18 =

4 + 11 = 19 × 15 = 68 ÷ 17 = 1 + 17 =

272 ÷ 16 = 40 - 20 = 112 ÷ 14 = 40 ÷ 8 =

90 ÷ 15 = 7 + 7 = 9 - 5 = 6 - 5 =

13 ÷ 13 = 4 × 6 = 9 + 4 = 27 - 20 =

11 + 12 = 4 × 13 = 8 + 17 = 11 + 14 =

36 - 16 = 8 × 19 = 2 + 11 = 1 × 18 =

140 ÷ 14 = 10 × 2 = 11 + 2 = 12 × 5 =

12 × 5 = 36 ÷ 3 = 10 + 20 = 9 + 2 =

36 ÷ 12 = 5 × 14 = 9 × 4 = 11 + 2 =

36 - 19 = 8 ÷ 8 = 228 ÷ 12 = 10 × 18 =

15 - 8 = 33 - 16 = 26 - 18 = 15 × 3 =

8 + 9 = 14 - 6 = 221 ÷ 13 = 18 + 5 =
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Todas las Operaciones (B) Respuestas
Calcule cada suma, diferencia, producto, o cociente.

216 ÷ 12 = 18 168 ÷ 14 = 12 6 × 16 = 96 30 ÷ 10 = 3

18 + 4 = 22 13 - 8 = 5 20 + 15 = 35 14 × 10 = 140

216 ÷ 18 = 12 7 + 20 = 27 33 - 20 = 13 7 × 15 = 105

4 × 17 = 68 9 × 14 = 126 90 ÷ 18 = 5 198 ÷ 18 = 11

4 × 17 = 68 22 ÷ 11 = 2 3 × 1 = 3 11 - 7 = 4

13 × 17 = 221 198 ÷ 11 = 18 16 - 3 = 13 15 × 16 = 240

30 - 12 = 18 20 × 13 = 260 7 + 4 = 11 17 + 20 = 37

8 × 12 = 96 6 + 10 = 16 20 + 16 = 36 18 - 9 = 9

228 ÷ 19 = 12 20 + 17 = 37 187 ÷ 17 = 11 19 + 15 = 34

45 ÷ 5 = 9 2 + 15 = 17 24 ÷ 2 = 12 10 - 7 = 3

1 × 15 = 15 2 + 14 = 16 8 + 3 = 11 75 ÷ 5 = 15

26 - 17 = 9 19 + 11 = 30 5 + 18 = 23 14 × 10 = 140

10 + 15 = 25 13 + 13 = 26 323 ÷ 19 = 17 12 + 18 = 30

4 + 11 = 15 19 × 15 = 285 68 ÷ 17 = 4 1 + 17 = 18

272 ÷ 16 = 17 40 - 20 = 20 112 ÷ 14 = 8 40 ÷ 8 = 5

90 ÷ 15 = 6 7 + 7 = 14 9 - 5 = 4 6 - 5 = 1

13 ÷ 13 = 1 4 × 6 = 24 9 + 4 = 13 27 - 20 = 7

11 + 12 = 23 4 × 13 = 52 8 + 17 = 25 11 + 14 = 25

36 - 16 = 20 8 × 19 = 152 2 + 11 = 13 1 × 18 = 18

140 ÷ 14 = 10 10 × 2 = 20 11 + 2 = 13 12 × 5 = 60

12 × 5 = 60 36 ÷ 3 = 12 10 + 20 = 30 9 + 2 = 11

36 ÷ 12 = 3 5 × 14 = 70 9 × 4 = 36 11 + 2 = 13

36 - 19 = 17 8 ÷ 8 = 1 228 ÷ 12 = 19 10 × 18 = 180

15 - 8 = 7 33 - 16 = 17 26 - 18 = 8 15 × 3 = 45

8 + 9 = 17 14 - 6 = 8 221 ÷ 13 = 17 18 + 5 = 23
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